
F ( 1 : 2 )

E

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

Part Number (Swelog)

Rev

Title

Created By

Creation Date Total Mass Sheet of Sheets

MM
11/02/2020 N/A 1  / 2 

Drawing Number

IN110492 A

Frame assembly Heavy mono shock

Winter products

NK

Format
Scale

A0 1 : 3,5

BK Hengeren AS Copyright ©

Hengeren for de kvalitetsbevisste



REVISION HISTORY

REV DESCRIPTION DATE AUTHOR

A   MM

460

3
0

4
0

Profile 25x25x1,5

5
5

Profile 40x25x1,5

4
0

7
0

Rear Left/Front Right

Front Left/Rear Right

Assembly Super Pulk 4 seat 2 shocks mono (Heavy)

Shock absorber dia. 78mm

Front Left/Rear Right

Front Left/Rear Right

Rear Left/Front Right

Rear Left/Front Right

Spacers SET Art. Nr.: 13460

A

2x

2
5


1

2

28

Left side

Right side

A

B

Drive direction

Front
Front

Drive direction

Left side

Right side

7
8

24

2

5


1

2

2x

B

Bolt M12x100

Bolt M12x85

Bolt M10x40

Washer M10x30x2.5

Rubber washer IN105930

Washer M10

Lock nut M10

B

Bolt M12x85

A

Bolt M12x100



C ( 1 : 2 )

D ( 1 : 2 )

C

D

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

Part Number (Swelog)

Rev

Title

Created By

Creation Date Total Mass Sheet of Sheets

MM
11/02/2020 N/A 2  / 2 

Drawing Number

IN110492 A

Frame assembly Heavy mono shock

Winter products

NK

Format
Scale

A0

1 : 4

BK Hengeren AS Copyright ©

Hengeren for de kvalitetsbevisste



Use front and middle hole in top frame

Use Heavy Duty absorber


	BK-Montering-Mono-Shock-2020-posisjon.pdf
	BK-Montering-Mono-Shock-2020.pdf

